Section 11.6 Area of a Triangle

The traditional formula for the area of a triangle is A = %2 bh where b is the base and 4 is the height
perpendicular to the base)

Look at triangle ABC.
Its area would be defined as 4 = 2 ah
Substitute that expression for A.
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According to the triangle above sinC = . Now it can be said that Area = Ea(b sin C)

Similarly, # = b sin C.
4—SAS!

Essentially if you know the lengths of two sides of a triangle and the measure of the angle between the two
sides, you can find the area of the triangle. That would give me three formulas...

Area = 5 absinC Area = > acsin B Area = 5 bcsin A

Example: Find the area of the triangle below.
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Example: The triangle below has an area of 94 fi2. Example: The triangle below has an area of 84 fi?.
Find B. Find the value of x.
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Exercise 11J



